SN

X XH -
S =

S (&9
[o] (o]
asa [ mesmen | yae
= 21,435,430 18,956, 262 2,479,168
= 6,333, 164
iy 3,820,000
& 1,907,841
Al 9,374,425
M TS H(sHMNLa/AY - AE 20,122,294 17,580,741 2,541,553
= 6,333,164
fias 3,493,758
& 1,790,341
Al 8,505,031
MESSHITNIEL 11,736,015 10,196,046 1,539,969
= 3,510,135
s 2,115,000
& 1,060, 111
Al 5,050,769
T EAMY 1,972,972 1,850,278 122,694
= 878,968
& 350,216
Al 743,788
2oty 23,388 23,388 0
10,407
= 4,140
Al 8,841
13,388 13,388 0
= 5,957
& 2,370
Al 5,061
= 0l & 13,388 13,388 0
= 5,957
& 2,370
Al 5,061
500,000& «2CH =10 10,000
2 4,450
& 1,770
Al 3,780
AEAMNEFE 3,388,000 * 14 3,388
= 1,507
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A AED
A AEX

Sel: NEEYLNEEA el a e
SH-EH. O (AN) - NRANY - B (X o) o) s

= 600
Al 1,281

03 AI2ZHI 10,000 10,000
= 4,450
= 1,770
Al 3,780

= 0f 10,000 10,000
= 4,450
= 1,770
Al 3,780

ORM733 A=Y HAF JHZE

10,000, 000& % 12| 10,000
= 4,450
& 1,770
Al 3,780

202 (4 Hl 2,160 2,160
= 961
& 383
Al 816

01 =2LHA I 2,160 2,160
= %61
= 383
Al 816

= 0ff &F 2,160 2,160
= 961
=~ 383
Al 816
OXgAMAF=E E2EH0H 60,0003 *3H x12& 2,160
= 961
& 383
Al 816

206 M= Hl 40,800 40,800
= 18, 156
& 7,222
Al 15,422

01 M=l 40,800 40,800
= 18, 156
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SN
X ZH -
L=

el

o)
4
[pal
o

M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
01 &4l & 7,222
Al 15,422
=0 A 40,800 40,800 0
= 18, 156
== 7,222
Al 15,422
oxgg 828 2¢ 14,000& *2,2002 30,800
= 13,706
== 5,452
Al 11,642
oM=Y BAE U 7Y
50, 000& *2Z 1004 10,000
= 4,450
== 1,770
Al 3,780
401 AEBIL LY 1,906,624 1,783,930 122,694
2 849, 444
o 338,471
Al 718,709
01 Al&H| 1,804,207 1,681,513 122,694
= 803,870
o= 320,344
Al 679,993
= 0l & 1,804,207 1,681,513 122,694
= 803,870
= 320,344
Al 679,993
OXSE ALY A A& A HI 278,790& x176ha 49,068
= 21,835
== 8,686
Al 18,547
O M= TS AE Al&H|
3,029, 832& *305ha 924,099
= 412,224
== 164,565
Al 347,310
OXNYESI TS AIE A&
20,122,833 & *6ha 120,737
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SN

PSP A XL (sl LLa/2Ad - AE)
Ciol: MESYUNAEA CERT
M- =8 a9 (3) - HEAY - a2 ggi) @(ijf;ﬁ% HRE2
= 53,727
== 21,370
Al 45,640
OoO2URsXE A&Hl  11,667,000& *20ha 233,340
= 103,836
== 41,301
Al 88,203
O/t THo 2RI =& Al & H|
11,924 ,075& *40ha 476,963
= 212,248
= 84,422
Al 180,293
02 Z2ldl 98,887 98,887 0
= 44,004
= 17,503
Al 37,380
= 0l & 98,887 98,887 0
= 44,004
& 17,503
Al 37,380
OXE ALY 2t2ltl 266,541& %37 1ha 98,887
= 44,004
== 17,503
Al 37,380
03 AlE=204d] 3,530 3,530 0
= 1,570
== 624
Al 1,336
= 0l & 3,530 3,530 0
= 1,570
== 624
Al 1,336
OXEAY 10,000& *353ha 3,530
= 1,570
== 624
Al 1,336
A HAST] ZHAIY 1,500, 000 1,500,000 0
= 1,051,930
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1,000

1,000

1,000

12,400

2,400

2,400

10,000

ol o
< RO
= RO

133,070
315,000
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H

Al
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700

fir
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H

210
1,000

Al

700

i

90

H

Al

1,000

700

r

90

WH

Al

12,400

8,680

fi

H

2,604

Al

2,400

1,680

i

216

H

504
2,400

Al

1,680

i

216
504

H

Al

2,400

1,680

fi

216
504

H

Al

10,000

7,000

i

or
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1l
oll
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AbS 2t el
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SN

=RE AT (YWY LAY - 4E)
Sl MEBYUNATA (2@
x s . Of &t o8 & & 0 A o -
N-Z3H .22 (3H) - MRAY - BES (Z= o) (713 o) Hns2
04 =R 301 bl = 900
Al 2,100
= 0l & 10,000 10,000 0
2 7,000
= 900
Al 2,100
OHSHBBLSTZLAY HEAR AR
5,000, 0008 *2% 10,000
2 7,000
= 900
Al 2,100
401 ANZHIL ST 40,272 40,272 0
2 28, 190
= 3,625
A 8,457
02 el 40,272 40,272 0
2 28, 190
= 3,625
Al 8,457
= 0 4t 40,272 40,272 0
2 28, 190
= 3,625
Al 8,457
OMTMEZHT ZeAe 22yl
195,0002 *40ha 7,800
2 5,460
= 702
A 1,638
OMEMHPBHET LT At 22yl
480,000,000%! +1.89% 9,072
2 6,350
= 817
Al 1,905
OHS MY =IIRIIA 22l
60,0002 *100ha 6,000
2 4,200
= 540
Al 1,260
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 ggi) @(ijf;lﬁ% HRE2
O A AIGCUI] XS XIFRIIAIE 2el
ull 58,000& *300ha 17,400
= 12,180
== 1,566
Al 3,654
402 QIZ2tXIE0l ™ 1,446,328 1,446,328 0
= 1,014,360
== 128,239
Al 303,729
03 OQI2t?[E A HI 1,446,328 1,446,328 0
= 1,014,360
o= 128,239
Al 303,729
= 0ff &F 1,446,328 1,446,328 0
= 1,014,360
== 128,239
Al 303,729
O MHBIAXZHALS
1,446,328,000& = 1JH 2~ 1,446,328
= 1,014,360
== 128,239
Al 303,729
HMZIIRI(FHZ I RIIALY) 2,839,275 4,653,868 AN 1,814,593
= 1,419,637
== 425,892
Al 993,746
201 AE2AH| 10,000 11,799 AN 1,799
= 5,000
== 1,500
Al 3,500
01 Ar®2te2lbl 6,000 7,799 A 1,799
= 3,000
900
Al 2,100
= 0l & 6,000 7,799 A 1,799
= 3,000
== 900
Al 2,100
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
ORI 28 S 200,000& «10& 2,000
= 1,000
== 300
Al 700
O=JIRIIAY /38 M=A
2,000,000& *23| 4,000
= 2,000
== 600
Al 1,400
02 =249t 4,000 4,000 0
= 2,000
& 600
Al 1,400
= 0l & 4,000 4,000 0
= 2,000
== 600
Al 1,400
OSMIIMI S LHIAHHH 2HH &
2= 100, 000& *10& 1,000
= 500
= 150
Al 350
OYE=JIRIXYg 57224
500,000& *1CH =61 & 3,000
= 1,500
== 450
Al 1,050
202 0| 4,500 9,000 A 4,500
= 2,250
== 675
Al 1,575
01 2L 4,500 9,000 AN 4,500
= 2,250
== 675
Al 1,575
= 0l & 4,500 9,000 A 4,500
= 2,250
== 675
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SN MED
Bu: NENASEA(SHNL /A - HE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
Al 1,575
OFIIRI| 2 ¢4 2AASH I
150,000& *3¥ *103] 4,500
= 2,250
= 675
Al 1,575
305 HHAZ2ESE 3,000 5,000 A 2,000
= 1,500
== 450
Al 1,050
01 HH&AZ2SS 3,000 5,000 A 2,000
= 1,500
= 450
Al 1,050
= 0ff A 3,000 5,000 A 2,000
= 1,500
== 450
Al 1,050
O=IRIIANY S Edlltia=
1,000,000& *3JH 4~ 3,000
= 1,500
== 450
Al 1,050
401  AlEHIZL20H] 2,816,975 4,551,729 N1,734,754
= 1,408,487
== 422,547
Al 985,941
01 Al&HI| 2,702,425 4,339,329 AN 1,636,904
= 1,351,212
== 405, 364
Al 945,849
= Ol & 2,702,425 4,339,329 AN 1,636,904
= 1,351,212
== 405,364
Al 945,849
O2LURIIRIIAIE A AIA A HI
96, 000& *480ha 46,080
= 23,040
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
& 6,912
Al 16,128
OB LR IIRIIAIS Al Al A H Y
80,000& *190ha 15,200
= 7,600
= 2,280
Al 5,320
OZXEXIRI| A A& A
80,000& %1, 120ha 89,600
= 44,800
== 13,440
Al 31,360
OZUR IR IIAIE HI 1,700,000& x480ha 816,000
= 408,000
= 122,400
Al 285,600
OB LRI I AFE B 1,600, 000& *190ha 304,000
= 152,000
== 45,600
Al 106,400
OZXEXNIRI| AFEHlI 1,278,1656& 1, 120ha 1,431,545
=2 715,772
== 214,732
Al 501,041
02 Zc2ldl 110,300 205,200 A 94,900
= 55,150
= 16,545
Al 38,605
= 0l & 110,300 205,200 A 94,900
= 55,150
== 16,545
Al 38,605
O2 LRI RIIAY 22l ] 70,000& *480ha 33,600
= 16,800
== 5,040
Al 11,760
ONS LIRIIRIIAIE 22l H]
50,000& *190ha 9,500
= 4,750
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
& 1,425
Al 3,325
OZEXNIIRIIALE 22l
60,000& =1, 120ha 67,200
= 33,600
= 10,080
Al 23,520
03 AIES0Hb] 4,250 7,200 A 2,950
= 2,125
== 638
Al 1,487
= 0l & 4,250 7,200 A 2,950
= 2,125
== 638
Al 1,487
OZ2URIIRIIAISE A& 200
3,000 *480ha 1,440
= 720
== 216
Al 504
OB LRIt RIIALY A8 204
3,000& *190ha 570
=2 285
== 85
Al 200
OZXSEXIIRIALS AEL2UHHI
2,000& *1,120ha 2,240
=2 1,120
== 337
Al 783
405  XHaHFE S| 4,800 20,000 N 15,200
= 2,400
== 720
Al 1,680
01 XAML=SFHSH 4,800 20,000 A 15,200
= 2,400
== 720
Al 1,680
= 0l & 4,800 20,000 A 15,200
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
O NEEUUNAEA CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 2,400
== 720
Al 1,680
OJlAE ¢ 600, 0002 *8CH 4,800
= 2,400
== 720
Al 1,680
23 I RI(BS=IHFRI M) 280,983 276,732 4,251
2 140,374
== 43,133
Al 97,476
101 ol 24 H| 267,660 257,522 10, 138
133,823
== 41,135
Al 92,702
04 JIZtHZ2Z2XNSE* 267,660 257,522 10,138
= 133,823
== 41,135
Al 92,702
= 0l & 267,660 257,522 10, 138
= 133,823
== 41,135
Al 92,702
OALEHIOI Q0 A M2 =& 212 | 197,132
—-Jlga 1,925,000 104 x8& 154,000
= 77,000
== 24,092
Al 52,908
—F534 2,496,400 x10H 24,964
= 12,482
== 3,744
Al 8,738
— =202 178,964 ,000& *4.5% 8,054
= 4,027
= 1,208
Al 2,819
—H2AEE 178,967,000& *3. 12% 5,584
= 2,792
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Al 325
—MHEE 61,755,900& *0.8% 495
= 245
== 73
Al 177
— &) YEE 1,927,000& *7.38% 143
= 71
== 21
Al 51
201 A E2AH| 13,323 19,210 N5,887
= 6,551
== 1,998
Al 4,774
01 Ar®2teldl 13,323 19,210 N5,887
= 6,551
== 1,998
Al 4,774
= 0l & 13,323 19,210 N5,887
= 6,551
== 1,998
Al 4,774
OALEHIOI 0 A M2 =& 20|
332,300& 10 3,323
= 1,551
== 498
Al 1,274
OdtE28 S8 g Xyl
1,000,000 x1CH*100H & 10,000
= 5,000
== 1,500
Al 3,500
CAEXIAL(ME ZHE XM) 1,500,000 0 1,500,000
- 750,000
Al 750,000
101 [elals] 30,021 0 30,021
Fag 15,010
Al 15,011
04 JIZtHIZ2ZXNSE S 30,021 0 30,021
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
04 JI2ZtHZ2Z2XNSE S g 15,010
Al 15,011
= 0ff &F 30,021 30,021
Fag 15,010
Al 15,011
O EANsE =4 S&2F o2y 30,021
—-J23 66,800& x60 x6H 24,048
Fag 12,024
Al 12,024
-5 66,800 *8 x6H 3,207
Fag 1,604
Al 1,603
—=0d3 27,225,000& *4.5% 1,226
Fag 613
Al 613
—2HLEE 27,225,000 *3. 12% 850
Fag 425
Al 425
- NE5E 27,225,000& *1.5% 409
Fag 204
Al 205
—MHEE 27,225,000& *8/1,000 218
Fag 109
Al 109
— &) AYEE 850,000 x7.38% 63
Fag 31
Al 32
201 B2 A Y| 2,000 2,000
Fag 1,000
Al 1,000
01 A2 22yl 2,000 2,000
rag 1,000
Al 1,000
= 0l & 2,000 2,000
Fag 1,000
Al 1,000
OZAN=ZH ALY 2 MHI 20,0003 *75% 1,500
P 750
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
Al 750
OZAN=ZHAY 228 2
25,000& *203| 500
Fag 250
Al 250
401 AEBIZL LY 1,467,979 0 1,467,979
Fag 733,990
Al 733,989
01 Al&HI 1,465,000 0 1,465,000
rag 732,500
Al 732,500
= 0l & 1,465,000 0 1,465,000
P 732,500
Al 732,500
O EAN= Z4AY 1,465,000,000& * 14! 1,465,000
Fag 732,500
Al 732,500
03 AIES0HH] 2,979 0 2,979
hag 1,490
Al 1,489
= O & 2,979 0 2,979
= 1,490
Al 1,489
O EANsm LAY AIE20H]
2,979,000& x 14! 2,979
Fag 1,490
Al 1,489
ML 17,662 21,800 N4, 138
201 A E2 A Y| 11,662 15,320 N 3,658
01 Ar®2teltl 11,662 15,320 N 3,658
= 0l & 11,662 15,320 N 3,658
O AIZY 3O X2 M2 20,000& 508 1,000
OdE ZAEXSE 2etTeyH EH & A2E
e 500,000& x1CH x23] 1,000
OdE XL A EMIEOeIH EH £ A2 S
- 200, 000& *2CH x23] 800
OdE ZEXA SAEX 2
22,000& 104 Xt +63] 1,320
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SN A
HE: MYNRSEL(SYHSLM/YY - ME)
Sol: NYUEYURATY (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OFY%Y =2s Y L AHY VRS
860,000%! * 122 10,320
Oy #Ie3 4,500,0002! 122 54,000
Oy +503 700,000% * 122 8,400
03 A2 4,000 0 4,000
=0 & 4,000 0 4,000
Onzo gy 2,000, 0008 *23] 4,000
202 Oft 600 0 600
01 2ol 600 0 600
=004 600 0 600
OE%Y ASF Ot 60,0002 *103] 600
206 T2 38,400 1,200 37,200
01 MYl 38,400 1,200 37,200
=0 & 38,400 1,200 37,200
OFYY 28 Fa2s, 28 7Y
50,0002 * 100 5,000
OFYY, UUZ ANLS 248 U 2
60,0002 *10% 83l 4,800
OMEI% 2218 OFRIE 2
60,0002l *200n 12,000
OFYY RO=HER DNE 7Y
20,0002 «50 1,000
OFYLY U TB4 b2
30,0002 %200 6,000
OF2Y sIHZs OFMs 2o
3,0002! 0% +200 6,000
OAN&Z 248 22AH, HIE S 2
20,0002 *307H 3,600
401 AN&HIL2OHY 17,000 43,000 26,000
01 A&l 17,000 43,000 26,000
=0 & 17,000 43,000 26,000
OR+HBZE WAS) Y 2I2Y 22
1,750,000% %43 7,000
O#us may 42 L 27
500,000 *2041 10,000
405 THaHF S 10,800 5,000 5,800
01 MMUSEHSY 10,800 5,000 5,800
=0 10,800 5,000 5,800
O&&4+§B(SHHA)ATE DA
220,000+84! %53 8,800
O==s olo= DA 2,000,000 * 1CH 2,000
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A AED
M AEX

AN ST (SHHL /UL - AE)
S MESSATNIEY (o2&
x s . 0 & o & & 0 A o -
SA - B (SH) - HRAY - BAES =z T BlRE2
=00 HEE 22 39,448 20,267 19, 181
201  LEr2IH] 15,448 18,000 A 2,552
01 AtR2Zeltl 5,248 7,200 A 1,952
= 0fl &F 5,248 7,200 A 1,952
O8It E M= A2l
200,000& =103l 2,000
O=00tdEE Fatx FAaH
500,000& *23| 1,000
O8Aag MgJ &(20L) #+¢
4703 *1,4004 658
HEE 2 M LaIIsF(50L) 2
& 1,060& x1,500%& 1,590
2323l 10,200 10,800 A 600
Ty 10,200 10,800 A 600
B MIIeS 550,000& 123 6,600
BLE =23 300,000& 122 3,600
ANEHIZ 2 24,000 0 24,000
A& Hl 24,000 0 24,000
AF 24,000 0 24,000
HYH M 24
1,000, 0002 Il 2 &9 9,000
HELEY NES &
1,875,000 I BI L H At 8BS 15,000
MBIAEZ 20l (= ol 20,000 20,000 0
= 10,000
Al 10,000
gIz2tol A 20,000 20,000 0
= 10,000
Al 10,000
QIZtRAE S 20,000 20,000 0
= 10,000
Al 10,000
& 20,000 20,000 0
= 10,000
Al 10,000
=old fIE2Z 20,000,000& =14 20,000
= 10,000
Al 10,000
X & At 18,452 18,452 0
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 9,226
Al 9,226
101 jSlals] 18,452 17,972 480
= 9,226
Al 9,226
04 JIZtHZ2Z2XNSE > 18,452 17,972 480
= 9,226
Al 9,226
= 0ff & 18,452 17,972 480
= 9,226
Al 9,226
O =2 HME XA 21| 18,282
- JIE22 66,8003 x1H*21 «10JH & 14,028
= 7,014
Al 7,014
- Fixg 66,800& * 1% x38 2,539
= 1,269
Al 1,270
- =04HZ 16,967,200& *4 .50% 764
=2 382
Al 382
— HAEE 16,967,200& *3.06% 520
=2 260
Al 260
- NE85E 16,967,200 *1.50% 255
=2 128
Al 127
— &I 529,380& x7.38% 40
= 20
Al 20
— MHEE 16,967,200 «8/1,000 136
= 68
Al 68
O =ZHMEXNTA 282=
170,000& *1H x 13| 170
= 85
Al 85
SOt=MdE 29 106,000 6,000 100,000
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A AED
M AEX

(==}
chel: s

MESAHUTRAEY (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;lﬁ% HRE2
= 101,800
Al 4,200
201 282 A | 4,800 4,800 0
== 1,440
Al 3,360
01 Ar®2te2lbl 4,800 4,800 0
= 1,440
Al 3,360
= 0ff & 4,800 4,800 0
== 1,440
Al 3,360
OKO0t=NMg T20dHY s W 7L
500,000& *63] 3,000
== 900
Al 2,100
OROM=MER tM2AEE 2L
450,000 43| 1,800
== 540
Al 1,260
202 044l 1,200 1,200 0
== 360
Al 840
01 2L b 1,200 1,200 0
o= 360
Al 840
= 0l & 1,200 1,200 0
== 360
Al 840
ORlOt=dld AU L d=0z A
60,000& 2«10 1,200
== 360
Al 840
402 QI2FXHE0| M 100,000 0 100,000
== 100,000
02 QIAXZ2AMAEX(0IEW) 100,000 0 100,000
& 100,000
= 0l & 100,000 0 100,000
== 100,000

- 996 -




M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
O= MEAA J|EAIA 100,000, 000& * 1Al 100,000
== 100,000
MY Ex SR RAEAY 2,050,000 150,000 1,900,000
Fag 1,025,000
Al 1,025,000
101 [Slals] 18,532 0 18,532
Fag 9,266
Al 9,266
04 JIZtHZ2Z2XNHSE =+ 18,532 0 18,532
g 9,266
Al 9,266
= 0ff & 18,532 0 18,532
Fag 9,266
Al 9,266
OdtE Y E=X ST AL J[2HH 12| 18,532
i =t=1 1,402,800& x2H «501 & 14,028
Fag 7,014
Al 7,014
-G 66,800& 21 x2H 2,806
Fag 1,403
Al 1,403
—=0d3 8,350,000& x4 . 5%*2H 752
Fag 376
Al 376
—2AAEE 8,350,000& *3. 12%*2H 522
Fag 261
Al 261
- 11888 8,350,000& *1.5%*2H 251
Fag 125
Al 126
—MHEE 8,350, 000& *0.8%*2H 134
Fag 67
Al 67
— A AEE 260,520& 7 .38%*2H 39
Fag 20
Al 19
401 AEBIZL LY 2,031,468 148,000 1,883,468
Fag 1,015,734

- 997 -




A AED
M AEX

(==}
chel: s

MESAHUTRAEY (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;lﬁ% HRE2
401  AIEHIY20iH] Al 1,015,734
01 Al&H| 2,029,468 148,000 1,881,468
rag 1,014,734
Al 1,014,734
= 0l & 2,029,468 148,000 1,881,468
Fag 1,014,734
Al 1,014,734
ONEYEZZA ZEAMYE 8H 29 &
3 At 2,029,468,000& * 14! 2,029,468
= 1,014,734
Al 1,014,734
03 A&=820Yl 2,000 0 2,000
rag 1,000
Al 1,000
= 0l & 2,000 0 2,000
Fag 1,000
Al 1,000
OdE Y EZ=SR ZEAMY AlIEL20H]
2,000,000& *14] 2,000
Fag 1,000
Al 1,000
MNEHME2AE 2Y 669, 128 793,886 N 124,758
101 [elals] 146,513 266,636 AN 120,123
04 JIZHZ2ZNSE S 146,513 266,636 N 120,123
= Ol & 146,513 266,636 AN 120,123
O« M2 JI2HH 2124l 146,513
—-JI23 83,1303 *8H »21 x8& 111,727
—S=s52¢xg 83, 1303 *8H x4 »8& 21,282
— =20HZ2 133,009, 000& *4.5% 5,986
—H2AEE 133,009, 000& *3. 12% 4,150
- 188d 133,009, 000& *1.5% 1,996
—MHEE 133,009, 000& *0.8% 1,065
— &) YEE 4,150,000& +7.38% 307
201 282 A Y| 22,190 27,250 A5,060
01 Ar®2t2ldl 16,940 22,000 A5,060
= 0l & 16,940 22,000 A5,060
ORXre Xyl 1,000, 000& *3CH 5 15,000
OA22EF 24| 194,000& 25 *x53] 1,940
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
S MEFSSUTVRATY (cte ®
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;ﬁ% HRE2
02 =249l 5,250 5,250
= 0l & 5,250 5,250 0
O F=HI 350,000& *x3CH x5 5,250
206 M E&H| 40,425 500,000 N 459,575
01 MZ2H| 40,425 500,000 N 459,575
= Ol & 40,425 500,000 N 459,575
O&EYG=Z2HAH 43 &4 1,250& *32, 3404 40,425
401 AEBIZL LY 460,000 0 460,000
01 Al&H| 460,000 0 460,000
= 0ff &F 460,000 0 460,000
=R ZH HG= HAALY
920,000& *500ha 460,000
== IR & 29 44,745 41,424 3,321
101 ol d| 24,985 20,224 4,761
04 JIZtHZ2Z2XNSE > 24,985 20,224 4,761
= 0l & 24,985 20,224 4,761
OUEXRAREZAN 212 24,985
EAR==1 90,000& x1H*x212 x 102 18,900
—-S=252xe 90,000& x1H 42«10 3,600
— =203 22,500,000& *4 .5% 1,013
—2AL2E 22,500,000 *3. 12% 702
- 1188E 22,500,000& *1.5% 338
—MHEE 22,500,000 *0.8% 180
— &) AYEE 702,000 *7.38% 52
—=22= 200,000& x1H 200
201 A E2 A Y| 13,760 17,200 N 3,440
01 Ar®2teltl 4,960 7,800 N 2,840
= 0l & 4,960 7,800 N 2,840
OZz NE2H MNRESE 7€
100, 000& =12& 1,200
OXNRAE AMEZ RAE 224
560,000& *x53] 2,800
OAZD|, Hld gx=2 80,000& x12& 960
02 3294l 8,800 9,400 A 600
= 0ff A 8,800 9,400 A 600
(OrSPIETa=] 550,000& x12& 6,600
Ox=E2= 100, 000& = 12& 1,200
OANEZE RANES 100, 000& = 10& 1,000
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SN A E D
F: MEXEAG T (sl Y=o/ - AE)
O NEEUUNAEA CER-E
SH-EH. O (AN) - NRANY - B o ) HDE2
206 M= Hl 6,000 4,000 2,000
01 M=z 4l 6,000 4,000 2,000
= 0l & 6,000 4,000 2,000
Oodtd XIw Z20d¢ 29 W+, Mg +
& 5,000& x20Y 603 6,000
FOl=XEd 299 40,000 40,000 0
= 20,000
Al 20,000
101 elA4| 33,136 27,921 5,215
= 16,568
Al 16,568
04 JIZtHIZ22HSE* 33,136 27,921 5,215
= 16,568
Al 16,568
= 0l & 33,136 27,921 5,215
= 16,568
Al 16,568
ORO0t=XNET At B 31,616
- JIE= 70,0003 x2F 21«8 23,520
rax 11,760
Al 11,760
-5 70,000& x2H =37 5,180
fax 2,590
Al 2,590
— IRHBEH 28,700,000 *4.50% 1,292
s 646
Al 646
—HLEEEE 28,700,000 *3. 12% 896
fas 448
Al 448
- 1NES2H 28,700,000& *1.50% 431
fas 215
Al 216
— &I RLEE 896,000 7. 38% 67
= 34
Al 33
—&HEE 28,700,000& *8/1,000 230
= 115
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
Ciol: MESYUNAEA CERT
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
Al 115
OKO0=XNE A 22= 200,000& 2H 23| 800
Fag 400
Al 400
SO=XEA A2 & BXUHSH
60,000& x2H 6 720
Fag 360
Al 360
201 B2 A Y| 6,864 11,119 N4, 255
Fag 3,432
Al 3,432
01 Ar®2t2lbl 6,864 11,119 N4, 255
g 3,432
Al 3,432
= 0l & 6,864 11,119 N4, 255
Fag 3,432
Al 3,432
OR0I=2Y WUl 2 400,000& *x83] 3,200
hag 1,600
Al 1,600
OR0l=2% 22l 88 22 700,000 *43] 2,800
Fag 1,400
Al 1,400
OROl= otd2Ae 82 22 864,000 *13] 864
Fag 432
Al 432
SMHEIMEE =4 400,000 0 400,000
Fag 320,000
Al 80,000
401 AIEHIY20iH] 400,000 0 400,000
Fas 320,000
Al 80,000
01 Al&HI| 400,000 0 400,000
hag 320,000
Al 80,000
= 0l & 400,000 0] 400,000
Fas 320,000
Al 80,000
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SN

sl
F: MEXEAG T (sl Y=o/ - AE)
O NEEUUNAEA CER-E
SA BB (AH) - HBAY - BA= o) ) HDE 2
O=NMZzsNEE =4 400,000,000 14! 400,000
rax 320,000
Al 80,000
EAHHEH HA M AMAS 20,000 0 20,000
= 6,000
Al 14,000
401 A& HIZ 20| 20,000 0 20,000
= 6,000
Al 14,000
01 Al&HI 20,000 0 20,000
= 6,000
Al 14,000
= 0l & 20,000 0 20,000
=~ 6,000
Al 14,000
OEAHIEA HeHM &H4AtE HEAH &Y
9 10,000, 0003 *2H 20,000
= 6,000
Al 14,000
MEASZIIIE 2F 4,926,153 4,007,088 919,065
= 1,589,110
fas 1,378,758
& 422,848
Al 1,535,437
ASRE AEEIAE L (MEEY AHEN &) 6,360 15,200 A 8,840
= 3,180
= 954
Al 2,226
401 AI&BIZ =208 6,360 15,200 A 8,840
= 3,180
= 954
Al 2,226
01 Al&HI 6,360 15,200 A 8,840
= 3,180
= 954
Al 2,226
= Ol & 6,360 15,200 A 8,840
= 3,180
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SN MED
Bu: NENASEA(SHNLA/AY - HE)
o pEaSZelY B CERT
M- =8 a9 (3) - HEAY - a2 ggi) @(ijf;ﬁ% HRE2
& 954
Al 2,226
OltEHFEIHE Y 19,874& *320ha 6,360
= 3,180
== 954
Al 2,226
AASH X 22 59,764 61,100 N 1,336
201 et A | 1,100 1,500 AN 400
01 Ar®2teltl 1,100 1,500 AN 400
= 0l & 1,100 1,500 N 400
OUASHA H&X AS A2
550,000& x1CH x23] 1,100
301 Qietg al=a 8,664 9,600 936
09 SAIAHEAZS 8,664 9,600 N 936
= Ol & 8,664 9,600 936
OLLEHA A L Ns &S 24
54, 150& *160H 8,664
307 QIz2to| & 50,000 50,000 0
02 CIZtAAMAIREE =X 50,000 0 50,000
= 0l & 50,000 0 50,000
OLI=HEZNE 500,000& x100H 50,000
AT AE (LAY 1,969,597 1,404,966 564,631
Fag 1,378,758
Al 590,839
101 [Slals] 26,837 25,200 1,637
Fag 18,505
Al 8,332
04 JIZtHZ2Z2XNSE =+ 26,837 25,200 1,637
hag 18,505
Al 8,332
= 0ff &F 26,837 25,200 1,637
Fag 18,505
Al 8,332
O 2e&d JI2H 22X 26,437
— A& A o2 1,500,000 x2H «8& 24,000
Fag 16,800
Al 7,200
—=20d3 24,000,000& *4.5% 1,080
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
©el: pRASA|E 2S CER-E
SNBSS (BH) - MEAY - B2 o @(ijf;ﬁ% HRE2
Fag 756
Al 324
—2AAEE 24,000,000 *x3. 12% 749
Fag 524
Al 225
- 1N188E 24,000,000& *1.5% 360
Fag 252
Al 108
—MHEE 24,000,000 *0.8% 192
hag 134
Al 58
— &Y 749,000& *7.38% 56
Fag 39
Al 17
O =2e|d I =H| 200,000& x2H 400
201 B2 A Y| 22,669 29,765 AT,096
Fag 15,868
Al 6,801
01 At 2t2ldl 12,669 16,000 AN 3,331
rag 8,868
Al 3,801
= 0l & 12,669 16,000 N 3,331
Fag 8,868
Al 3,801
O zzed Iy dxs
1,000,000 x1CH =81 & 8,000
Fag 5,600
Al 2,400
OYT }MAESS L otiE ¢
1,000,000& *x33] 3,000
hag 2,100
Al 900
ogrzaE A28 7 1,669,000& *13] 1,669
Fag 1,168
Al 501
02 3329HY| 10,000 13,765 N3,765
Fag 7,000
Al 3,000
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2A: n
PRSI NS E L (sSol Lo/ - AE)
Eol: MEASAAIY = CERT
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 10,000 13,765 N3,765
Fag 7,000
Al 3,000
ogzzes Y KU 500,000& *8JH & 4,000
Fag 2,800
Al 1,200
ogeaeg 24 REUH
500,000& 1201 & 6,000
Fag 4,200
Al 1,800
401  AIEHIZL 20iH] 1,919,091 1,345,001 574,090
Fag 1,343,685
Al 575,406
01 Al&HI| 1,878,746 1,312,891 565,855
rag 1,315,443
Al 563,303
= 0ff &F 1,878,746 1,312,891 565,855
Fag 1,315,443
Al 563,303
Ot d A 207,000, 000& *5km 1,035,000
Fag 729,500
Al 305,500
Ozt AT A Al A HHI
1,035,000, 000& *3.55% 36,743
P 26,001
Al 10,742
O&gATANA 124,000, 000& * 1km 124,000
Fag 86,800
Al 37,200
O&HAT AAIEAHHl 124,000,000 *4.85% 6,014
hag 4,210
Al 1,804
O =2 & 62,000, 000& *8km 496,000
Fag 342,240
Al 153,760
OLET2RONE & AIA A
496,000,000& %4 .03% 19,989
Fas 13,992
Al 5,997
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2N MED
PRSI NS E L (sSol Lo/ - AE)
Eol: MEASAAIY = CERT
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
OodEE=x 4,600,000& *35km 161,000
Fag 112,700
Al 48,300
02 Zc2ldl 29,359 23,732 5,627
hag 20,552
Al 8,807
= 0ff &F 29,359 23,732 5,627
Fag 20,552
Al 8,807
Ot d e 2eldl 1,035,000,000& *1.66% 17,181
Fag 12,027
Al 5,154
oA 22|t 124,000, 000& *2 . 26% 2,803
= 1,962
Al 841
ORI E 2Zeldl  496,000,000& *1.89% 9,375
Fag 6,563
Al 2,812
03 AlIE&20idl 10,986 8,378 2,608
rag 7,690
Al 3,296
= 0l & 10,986 8,378 2,608
Fag 7,690
Al 3,296
Ot AT X2
1,035,000, 000& *0.63% 6,521
Fag 4,565
Al 1,956
OXPAT =XL2HHl  124,000,000& *0.72% 893
Fag 625
Al 268
OLER2XNE FTALE2UHYI
496,000,000& *0.72% 3,572
Fag 2,500
Al 1,072
405  XHAaHFE S 1,000 5,000 A4,000
Fag 700
Al 300

- 1006 -




A LD
PSP NG I (SSHHYEA/AH - AE)
o pEaSZelY B CERT
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
01 MM =SSFHSH 1,000 5,000 A 4,000
rag 700
Al 300
= 0l & 1,000 5,000 A 4,000
Fag 700
Al 300
OoYdEsE =) #*¢ 1,000,000& = 1CH 1,000
Fas 700
Al 300
AZITHOH R RI (APAEH B & Ol 2 Er) 39,420 49,872 A10,452
= 15,768
Al 23,652
101 ol 24 H| 31,725 39,800 N8,075
= 12,690
Al 19,035
04 JIZtHZ2ZXNSE S 31,725 39,800 N8,075
= 12,690
Al 19,035
= 0l & 31,725 39,800 N 8,075
= 12,690
Al 19,035
OR-/LALER S & e oI 31,725
— o 1,600,000 *3H ~6& 28,800
= 11,523
Al 17,277
— =20d3 28,800,000& *4.5% 1,296
=2 518
Al 778
—2AL2E 28,800,000 *3.12% 899
= 359
Al 540
- 1N8EE 28,800,000& *1.5% 432
= 172
Al 260
—MHEE 28,800,000& *0.8% 231
= 92
Al 139
— &I 899,000& *7.38% 67
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SN A
Ha: NANHESEM(SYHSSA/AY - AE)
Sl MEASAYIIY TS (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
OMAD NE0IS STHE
20,000,000 * 144 20,000
= 20,000
OYME Lo YTIHA 50,000,000 *14! 50,000
= 50,000
O&Fs el MBHK M2 T
20,000,000 *14! 20,000
= 20,000
SHEASULY 2IAY 56,000 56,000 0
2 24,000
Al 32,000
402 YAXEROIH 56,000 56,000 0
2 24,000
Al 32,000
02 QIAXZALZE(OIHE) 56,000 56,000 0
2 24,000
Al 32,000
=04 56,000 56,000 0
2 24,000
Al 32,000
OFeg SHBI2LY 23
4,000,000 *20CH *70% 56,000
2 24,000
Al 32,000
NYssRE 84 235,060 236,604 A 1,544
201 Yur2YHl 3,760 4,824 A1,064
01 At 2r2lt| 3,760 4,824 A 1,064
=004 3,760 4,824 A1,064
O2xy Lo 100, 0008 *22 x53] 1,000
OAMBIZO DS 100, 0008 *22! +33] 600
OBZDS X YR 500, 0008 *23] 1,000
ORMW Tl 10,000 302 #23] 600
Ons 28 2| 46,6602 6% +23] 560
202 OfHl 1,300 1,780 480
01 2ol 1,300 1,780 480
=004 1,300 1,780 480
OUBSHESSY SXNXNZHY FA0
20,0009 *2F 252 1,000
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SN AT
Ha: NANHESEM(SYHSSA/AY - AE)
Sol MYASYYIIB RE CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OMYASRESY 29 EX0it]
60,0002 * 12 x5! 300
402 BIAXEOIH 230,000 230,000 0
01 SIATEALRE(RAME) 230,000 230,000 0
2004 230,000 230,000 0
OnEYSsRE S 230,000
—dassEe sS4
34,000,000 *107H £ *50% 170,000
— M4 S4 8,000,002 *15ha*50% 60,000
NEN-=RNEE P 2,072,076 2,072,076 0
= 1,449,649
= 311,213
Al 311,214
201 sty 2,675 2,412 263
=2 1,873
= 401
Al 401
01 A2t 2,675 2,412 263
=2 1,873
< 401
Al 401
=204 2,675 2,412 263
= 1,873
= 401
Al 401
OMEAY ABE 29 1,675,000% «1A! 1,675
= 1,173
= 251
Al 251
OAEIAIR BAF 2 Xt2 MR
1,000,000% *14] 1,000
= 700
= 150
Al 150
202 OfHl 4,000 2,000 2,000
= 2,800
= 600
Al 600
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M AEY
Mz MEIXRASISE (sl 2l od . AbE)
©el: pRASA|E 2S CER-E
SN FE - o9l (3 SAY - A (ggj) @(ijf;ﬁ% HRE2
01 =2UWAH 4,000 2,000 2,000
= 2,800
== 600
Al 600
= 0l & 4,000 2,000 2,000
= 2,800
== 600
Al 600
OAEFAIS 243 2 = H 0|
100,000& »2H x20 4,000
= 2,800
== 600
Al 600
401 AEBIL LY 2,065,401 2,067,664 N2,263
= 1,444,976
== 310,212
Al 310,213
01 Al&H| 2,034,101 1,935,000 99,101
= 1,423,068
= 305,516
Al 305,517
= 0l & 2,034,101 1,935,000 99, 101
= 1,423,068
== 305,516
Al 305,517
OAMSEH 240,000,000 304 A~ 720,000
= 503,540
== 108,230
Al 108,230
Ottt S| 774,101,000 *1JH 2 774,101
= 541,528
== 116,286
Al 116,287
OAHEBEH 180,000, 000& *2JH A~ 360,000
=2 252,000
== 54,000
Al 54,000
O LRI AR 90,000, 000& =24 A~ 180,000
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M AEY
M MEITRASIIH (sHol LA/ AH - AHE)
©el: pRASA|E 2S CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 126,000
== 27,000
Al 27,000
02 Zc2ldl 22,372 119,632 N 97,260
= 15,660
== 3,356
Al 3,356
= 0ol & 22,372 119,632 N 97,260
= 15,660
== 3,356
Al 3,356
OArEHEs 2H2| Hl 720,000,000 *1.66% 11,952
= 8,366
== 1,793
Al 1,793
OHEEH 22|l 360,000,000 *1.89% 6,804
= 4,762
== 1,021
Al 1,021
O A& XI AN 22l bl 160,000, 000& *2.26% 3,616
= 2,532
= 542
Al 542
03 AIEE£0HH] 8,928 13,032 AN4,104
= 6,248
== 1,340
Al 1,340
= 0l & 8,928 13,032 N4,104
= 6,248
= 1,340
Al 1,340
oAt =& 20| 720,000,000& *0.72% 5,184
= 3,628
== 778
Al 778
OHEBEXN F& 204
360,000,000& *0.72% 2,592
= 1,814
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S AR
Ha: NANHESEM(SYHSSA/AY - AE)
ool MEASAYIIY E (ol
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
< 389
Al 389
OMXIAE = SO
160,000, 0008 +0.72% 1,152
= 806
= 173
Al 173
AFEEARES BOIEY O E A 59,876 15,350 44,526
= 41,913
= 8,981
Al 8,982
401 AEBILRHE 59,876 15,350 44,526
= 41,913
= 8,981
Al 8,982
01 A&l 59,876 15,350 44,526
=2 41,913
= 8,981
Al 8,982
=004 59,876 15,350 44,526
= 41,913
= 8,981
Al 8,982
OAMEIAIY BIIEZ SEAC
59,876, 00021 * 14} 59,876
= 41,913
= 8,981
Al 8,982
AAIE RXI2E 78,000 21,000 57,000
= 54,600
= 11,700
Al 11,700
401 AEBILRHE 78,000 21,000 57,000
54,600
= 11,700
Al 11,700
01 A&l 78,000 21,000 57,000
= 54,600
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SN MED
Bu: NENASEA(SHNLA/AY - HE)
o pEaSZelY B CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 A&l < 11,700
Al 11,700
= 0ff &F 78,000 21,000 57,000
= 54,600
= 11,700
Al 11,700
OMEAE FR22IAY 78,000,000 14 78,000
= 54,600
= 11,700
Al 11,700
ALE MACT 4 200,000 0 200,000
401 Al&HI 208 200,000 0 200,000
01 Al&HI 200,000 0 200,000
= 0l & 200,000 0 200,000
OMBIAS ZSS A8 ANSMANDT |
o 200,000,000& *1ha 200,000
HE ggel e MAEH KR 60,000 0 60,000
402 Ut =201H 60,000 0 60,000
01 QI 2AISE X (RHAHSA) 60,000 0 60,000
= Ol &t 60,000 0 60,000
Oz 2ol 24 MAEY X2
6,000, 000& x20CH *50% 60,000
HFELAME0ESE 420,818 465,588 AN44,770
= 219,129
= 29,772
Al 171,917
MBS FSAA 18,280 18,280 0
= 9,140
= 1,828
Al 7,312
402 QIZERrE0l M 18,280 18,280 0
= 9,140
1,828
Al 7,312
02 QUAT2AISEX(0IXTHEA) 18,280 18,280 0
= 9,140
= 1,828
Al 7,312
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SN A
HE: NYNRSES(SYHSLM/YY - ME)
ool HHANS0IEST (B9 @2
x s . Of &t o8 & & 0 A o -
N-Z3H .22 (3H) - MRAY - BES (Z= o) (713 o) Hns2
OXF (&4 AL N
8,000, 0002 %52 40% 16,000
2 8,000
Al 8,000
N PEPN=DY 48,000 48,000 0
2 24,000
Al 24,000
402 YAXEROIH 48,000 48,000 0
2 24,000
Al 24,000
02 QIATEALRE(OIFTHS) 48,000 48,000 0
2 24,000
Al 24,000
=0 48,000 48,000 0
2 24,000
Al 24,000
OMBRS MASXIZS(AAU)
20,000, 0002 *6H 4 *40% 48,000
2 24,000
Al 24,000
NEEEEL-1=0y 256,000 152,000 104,000
2 128,000
= 25,600
Al 102,400
402 PIZTROIH 256,000 152,000 104,000
2 128,000
= 25,600
Al 102,400
02 QIATEALRE(OIFHS) 256,000 152,000 104,000
= 128,000
= 25,600
Al 102,400
=04 256,000 152,000 104,000
2 128,000
= 25,600
Al 102,400
OFSYAQI(2ER, B2)
90,000, 0002 *17H & %80% 72,000
2 36,000
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SN

X XH -
S =

chelr EFE YA &l (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 7,200
Al 28,800
OFIUgol(1Ext, 32)
115,000, 000 & *2JH 2~ *80% 184,000
2 92,000
= 18,400
Al 73,600
T ehZ 2 A2 THHH 2t 2 31,392 31,392 0
2 24,416
Al 6,976
402 QI =0lM 31,392 31,392 0
= 24,416
Al 6,976
02 QAT 2AISEX(0IXTHSA) 31,392 31,392 0
= 24,416
Al 6,976
= 0l &t 31,392 31,392 0
= 24,416
Al 6,976
OELZNMHEM ¥ |II&EH= XA
758, 2603 *46ha*90% 31,392
=2 24,416
Al 6,976
SMETNE BESSAX 3,039,308 2,912,019 127,289
= 1,014,790
= 277,610
Al 1,746,908
At TMHL Rl HIN(MEXMZ2UHSESI) ALY 800, 122 697,626 102,496
= 320,048
& 144,022
Al 336,052
101 elA4| 760,448 647,028 113,420
= 304,179
= 136,881
Al 319,388
04 JIZtHZZ2NSE= 760,448 647,028 113,420
= 304,179
= 136,881
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A AED
A AP L (s Lb/AdY - &E)
Bl MEX

MEITIE BES S (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
04 JI2ZtHZ2Z2XNSE S Al 319,388
= 0l & 760,448 647,028 113,420
= 304,179
== 136,881
Al 319,388
ONENZAZIH R
66,8003 *66H * 150! 661,320
= 264,528
= 119,037
Al 277,755
Ot=M XS 50 E8 =& 67,128
—=30dH3 661,320,000& x4 .5% 29,760
= 11,904
== 5,357
Al 12,499
—H2AEE 661,320,000& *3.12% 20,634
= 8,254
== 3,714
Al 8,666
- 1188d 661,320,000 *1.5% 9,920
= 3,968
== 1,786
Al 4,166
—MHEE 661,320,000 %0 .8% 5,291
= 2,116
== 953
Al 2,222
— &Y 20,634,000& %7 .38% 1,523
= 609
== 274
Al 640
OUMEF20 YRS 222 22 (70Y)
32,000,000 14! 32,000
= 12,800
== 5,760
Al 13,440
201 A E2AH| 39,674 50,598 AN 10,924
= 15,869
== 7,141
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Al
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fir
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W

13,893

Al
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i

5,953
13,893
20,000

H

Al
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H
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fi
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Al
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A AED
A AP L (s Lb/AdY - &E)
Bl MEX

MEITIE BES S (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
MRS 7E L 2H(BHN) 30,924 28,547 2,377
= 12,368
== 5,592
Al 12,964
201 B2 A Y| 21,064 20,287 777
= 8,424
= 3,817
Al 8,823
01 Ar®2telt] 21,064 20,287 777
= 8,424
= 3,817
Al 8,823
= 0ff &F 21,064 20,287 777
= 8,424
== 3,817
Al 8,823
OXtEI0 XHH(STEEZ)
390, 055& «36CH 14,042
= 5,616
== 2,529
Al 5,897
Odt=2 X3 2 AH| 6,501& *1,080Y 7,022
= 2,808
== 1,288
Al 2,926
202 0| 5,860 5,860 0
= 0,344
== 1,055
Al 2,461
01 2L 5,860 5,860 0
= 2 344
== 1,055
Al 2,461
= 0l & 5,860 5,860 0
= 2,344
== 1,055
Al 2,461
Odt2 X3 ESH| 20,000 x293H 5,860
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A AED
A AP L (s Lb/AdY - &E)
Bl MEX

0
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0y

1
x
o
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e

04 rx

moH
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o X
o =

405  XKH&HFSHI 4,000 2,400 1,600

hnoW
N o
nN o
o O

Al 1,680

2
P}
rx
Ha
Mo
O
BN
an
=
>
o
o
o

2,400 1,600

H 1)
N o
nN o
o O

Al 1,680

rt
=
z
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o
S
=)

2,400 1,600

nooW
N o
nN o
o O

O
Jon
o
0R
10
Bl
S

800,000& *5CH 4,000

noW
N o
nN o
o O

SAEXSHA 2 L 2L (X2) 9,100 6,500 2,600

201

e
T
H0
02
=
©
S
IS

6,500 2,600

J

w
(]
N
o

Al 3,822

02

0K
OH
H0
02
=
©
)
S

6,500 2,600

H 1
—_ W
(o) BN e))
@ =
o o

rt
=
pa
©
)
o

6,500 2,600

moH
- »
o o
@ B
& S

Out=2ZAE AXZHAILY SHE

A
130,000& »70CH 9,100
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SN

2
M MEITRASIIH (sHol LA/ AH - AHE)
S JMENE B8 (cte ®
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
= 3,640
== 1,638
Al 3,822
MEBUHEMH S L 2 (3 &) 41,100 41,100 0
= 16,440
= 7,398
Al 17,262
101 o124 4| 26,324 16,258 10,066
= 10,529
4,739
Al 11,056
04 JIZtHIZ2ZXNSE S 26,324 16,258 10,066
= 10,529
& 4,739
Al 11,056
= 0l & 26,324 16,258 10,066
= 10,529
== 4,739
Al 11,056
OMEZE 2 JI2ZtH 224 2182
66,800& x4 »21 x4 & 22,445
= 8,978
== 4,041
Al 9,426
OMERERC JIZHHIZEXN B 2,279
—=0d3 22,445 ,000& *4.5% 1,011
= 404
== 182
Al 425
—2HLEE 22,445,000 *3. 12% 701
= 280
== 126
Al 295
- 1188d 22,445 ,000& *1.5% 337
=2 135
== 61
Al 141
—MHEE 22,445 000& *0.8% 180
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2M AE
M MEITRASIIH (sHol LA/ AH - AHE)
chelr MEXE BES R (cte ®
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
= 0l & 4,000 5,342 N 1,342
= 1,600
== 720
Al 1,680
ONMERAE R0 AEMH(SEHI)
1,000, 000& *2CH 2,000
= 800
== 360
Al 840
Od2H A 75 29| 500,000 x4 & 2,000
=2 800
== 360
Al 840
401 AIEHIZL20iH] 6,000 6,000 0
= 2,400
== 1,080
Al 2,520
01 Al&HI| 6,000 6,000 0
= 2,400
& 1,080
Al 2,520
= 0l & 6,000 6,000 0
= 2,400
== 1,080
Al 2,520
ORIl ANES & ZdH|£2 S
2,000,000& 34 A~ 6,000
= 2,400
= 1,080
Al 2,520
M0 & RS 495,442 456,038 39,404
101 jelals] 134,434 109,330 25,104
04 JI2ZtHZ22XARsSE+ 134,434 109,330 25,104
= Ol &t 134,434 109,330 25,104
OMENY =A4a2F F 134,434
—-Jl23 66,800 *9H x25 x7& 105,210
—S=s5g¢xY 66,800 x9YH x4 x7 & 16,834
—20HAIEES 122,044,000& *4.5% 5,492
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A AED
I METESEY(sEHHL /LY - AE)
\

(==}
chel: s

METE BESRA (o2&
x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e i BlRE2
—dA2EBE= 122,044,000 *3. 12% 3,808
—1NE2E= 122,044,000& *1.5% 1,831
—MHEEZ 122,044,000& *0. 8% 977
-3 YEE 3,808,000 x7.38% 282
201 et 8,000 8,800 A 800
01 At 2eltl 8,000 8,800 A 800
= Off & 8,000 8,800 A 800
OsH dg22AHNT da= 2
200,000 2001 S 2 »2H 8,000
203 YR FAH 1,000 1,000 0
03 AHMF=XHRFEH]| 1,000 1,000 0
= Ofl &F 1,000 1,000 0
Odr2dgasH OHE dRF4
1,000, 000& 14 1,000
301 get2a= 900 1,800 A 900
12 JIEt2 &= 900 1,800 A 900
= Off & 900 1,800 A 900
Ottt Za=z 300,000& *33] 900
308 XXEHHMSOIH 310,108 310,108 0
07 RXESHMAREE S 310,108 310,108 0
= Off & 310,108 310,108 0
Odt=dst & ol dIPX BE=
304,258,000 = 1CH 304,258
Odt=2dstoans ¥ HIt 450,000& =133 5,850
401 AIZBIZ =208l 25,000 25,000 0
01 Al&UI 25,000 25,000 0
= Ofl & 25,000 25,000 0
ot=d AsZAxz=A WA
25,000,000& =10 2 25,000
405  THAHF S 16,000 0 16,000
01 XML 2EHSHI 16,000 0 16,000
= 0fl & 16,000 0 16,000
Ot20lY I=sFME Ml A8 I
2 8,000,000 »2CH 16,000
AFEITHOH L el O (A S HH S0l &2 M- 4H) 135,040 122,772 12,268
= 67,225
= 20,545
Al 47,270
101 elA4| 128,772 116,772 12,000
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ARK
70 [0 0
Fdledied]

S A
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0

=

12,000

12,000

268

268

268

& 1 = 0f 4 o
(J13H)

116,772

116,772
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A AP L (s Lb/AdY - &E)
ool MEXE BSRA (el
x 3 I Oll &F o & 0 & =
SN -3 -S(3) - NRA - BES 2 on) (1= o) HnsZ
AEEMNES Y 803,636 840,187 A 36,551
= 540,655
S 79,373
Al 183,608
101 el2Hl 149,560 181,140 231,580
= 100,463
S 14,616
Al 34,481
04 JIZNZ2UHSES 149,560 181,140 231,580
= 100,463
& 14,616
Al 34,481
= 0l &t 149,560 181,140 231,580
= 100,463
(= 14,616
Al 34,481
Ougddais <l 27
1,600,000 x102 »8& 128,000
= 85,954
s 12,481
Al 29,565
Ouedais gl A 2E8x
239,500 x10& »8E 19,160
= 12,894
s 1,897
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120,000% * 10 23] 2,400
=2 1,615
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Al 547
201 B2 HH 9,400 9,400 0
= 6,326
s 931
Al 2,143
01 At 22ldl 7,600 7,600 0
= 5,114
< 753
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SN

PSP A XL (sl LLa/2Ad - AE)
el RSN o A
CESI(BIH) - MRAY - BaS (g'ijj @fjfgm;ﬁ% =2
LH 4 HI & 258
Al 593
2,600 2,600 0
= 1,749
o 258
Al 593
MEHHS 3o S FHN 130, 000& *20H 2,600
= 1,749
= 258
Al 593
M 2 Hl 97,346 97,333 13
= 65,514
== 9,639
Al 22,193
M 2 8l 97,346 97,333 13
= 65,514
o= 9,639
Al 22,193
= 0l & 97,346 97,333 13
= 65,514
o 9,639
Al 22,193
SEENEYH BE N Y
7,740 *1,000= 7,740
= 5,210
== 767
Al 1,763
SEEHE USFA SH R
713,260& *100ha 71,326
= 48,002
== 7,062
Al 16,262
MEHNS NAEH LM
73, 120& *250ha 18,280
= 12,302
== 1,810
Al 4,168
aA32S 1,200 1,200 0
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=
U NENANEA(SEHLSN/UY - AE)
chelr MEXE BES R (cte ®
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
305 Hiad=ZS = 808
= 119
Al 273
01 BH&ZS 1,200 1,200 0
= 808
= 119
Al 273
= 0l & 1,200 1,200 0
= 808
& 119
Al 273
OgdaisIlois HMAHAEY =ditha3
300,000& *4J4 2 1,200
= 808
& 119
Al 273
401 AI&BIZ =208 543,530 548,514 AN4,984
= 365,795
& 53,810
Al 123,925
01 Al&HI 481,430 486,414 A4,984
= 324,002
= 47,662
Al 109,766
= 0ff & 481,430 486,414 A4,984
= 324,002
= 47,662
Al 109,766
Outeddal=s LA 481,430& x1,000ha 481,430
= 324,002
& 47,662
Al 109,766
02 Zeldl 58,500 58,500 0
= 39,371
= 5,791
Al 13,338
= 0l & 58,500 58,500 0
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Bl MEX

MEITIE BES S (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;lﬁ% HRE2
= 39,371
== 5,791
Al 13,338
ONSYHs HAY 22l
65,000& *900ha 58,500
= 39,371
== 5,791
Al 13,338
03 A&ES20Yl 3,600 3,600 0
= 2,422
== 357
Al 821
= Ol & 3,600 3,600 0
= 2,422
== 357
Al 821
Ottt dgols S MAME =20
4,0002 *900ha 3,600
= 2,422
= 357
Al 821
g 3 M XA 59,000 49,185 9,815
206 M EH| 48,000 39,185 8,815
01 MZH| 48,000 39,185 8,815
= 0ff A 48,000 39,185 8,815
OBUS SRYH e H7L
80, 000& *600ha 48,000
402 QItXE0IA 11,000 10,000 1,000
03 OQI2t[EF AL HI 11,000 10,000 1,000
= 0l & 11,000 10,000 1,000
Oogu= st32X e ArHI
13,750 & *800ha 11,000
At THOH Ol & L = 2ALS 95,000 95,000 0
401 AEBIZL L 95,000 95,000 0
01 Al&H| 95,000 95,000 0
= 0ff & 95,000 95,000 0
OaEMH Y ¥ 2=
23,750, 000& =44 A~ 95,000
Arel M EZTHGH Ofl &F AL 60,000 40,000 20,000
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OttE Mol A== MA
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SR Matzte] 5,500 285,000 A 279,500
201  Let2g| 5,000 5,000 0
01 At 2eltl 5,000 5,000 0
= Ol & 5,000 5,000 0
OS:Ma 2e| S ==+2 500,000 63 3,000
O3 2t AI22X EXEH &
20,000 » 1004 2,000
202 (4 H| 500 0 500
01 3LHA I 500 0 500
= 0l & 500 0 500
O M 2el L XA (|
20,000 » 1«52 53| 500
252 36,000 36,000 0
= 10,800
Al 25,200
101 o144l 4,041 0 4,041
= 1,212
Al 2,829
04 JIZtHZZ2NSE= 4,041 0 4,041
= 1,212
Al 2,829
= 0l & 4,041 0 4,041
& 1,212
Al 2,829
OEs+ Hols 2H o2 4,041
—-JIE2= 66,800 x2F * 10 x33| 4,008
& 1,203
Al 2,805
—MHEH 4,008,000& *0.8% 33
& 9
Al 24
401 A&HIZ=20bI 31,959 36,000 A4, 041
= 9,588

- 1036 -




A AED
I MRTEES(
\

Ehel &g ad B5R (cte ®
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
401 Al&HI 20| Al 22,371
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= 9,588
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= 0l & 31,959 36,000 A4, 041
= 9,588
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3,195,900& =109 &~ 31,959
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= 0l & 2,600 24,000 A21,400
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OBz 2 =% otuE HE
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OLJi4+ MRS #AF)
4,500, 000& *207H 2~ 90,000
A ZO0F AFAIAY 184,200 115,840 68,360
201  etg| 7,200 1,840 5,360
01 At 2eltl 7,200 1,840 5,360
= Off &t 7,200 1,840 5,360
OLAIHEH 299HI 720,000& x10& 7,200
206 M=l 57,000 0 57,000
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= 0l & 57,000 0 57,000
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01 Al&Hl 120,000 114,000 6,000
= 0l &t 120,000 114,000 6,000
OALUSRHLESE MTLRF A AL
2,825,000 *40ha 113,000
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401 AIEHIZ R0 100,000 0 100,000
01 Al&HI 100,000 0 100,000
= 0l &t 100,000 0 100,000
Oltg gaue 88 =4
10,000,000 * 1074 2 100,000
2UROSHSEA 23 73,580 0 73,580
= 49,520
S 7,284
Al 16,776
101 QIAdH] 73,580 0 73,580
= 49,520
s 7,284
Al 16,776
04 JIZNZ2UHSES 73,580 0 73,580
= 49,520
& 7,284
Al 16,776
= 0f & 73,580 0 73,580
= 49,520
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Al 16,776
OAURFR0ISHEHE A
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A ’é’aﬁué T2 TANEZHE(ZELXNYGNL/NELEAl)
Ciol: SEECASAYE GLEL!
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
— 422 13,965,840 *3. 12% 436
- NE2d 13,965,840& *1.5% 210
—MHEE 13,965,840& *0.8% 112
— &2 435,730 *7.38% 33
206 M ZHl 9,600 0 9,600
01 M=zl 9,600 0 9,600
= 0l & 9,600 0 9,600
OFRSUZ S=E7E OIMMEFRY
60,000 *160m 9,600
401 A&BIZ =208 200,000 170,000 30,000
01 Al&HI 200,000 170,000 30,000
= 0l & 200,000 170,000 30,000
OtdEIANL &F, EHIII S
357, 1423 «560km 200,000
SUXH BR(MBMHIA SHZ FH|) 360,000 330,000 30,000
= 180,000
Al 180,000
401 Al&HIZ 20| 360,000 330,000 30,000
fias 180,000
Al 180,000
01 AI&EHI 357,408 327,624 29,784
= 178,704
Al 178,704
= 0ff & 357,408 327,624 29,784
as 178,704
Al 178,704
OdtE MblA S&t2 Jdl & AIE A bl
360,000, 000& *4.03% 14,508
s 7,254
Al 7,254
ONEANHIA S&Z FHI 612,320 *560km 342,900
ias 171,450
Al 171,450
03 AI&=0HYI 2,592 2,376 216
= 1,296
Al 1,296
= 0l & 2,592 2,376 216
fas 1,296
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M AEY
M MOIJUE ZE2 TAXZLE(ZELXNIENE/XNSL A
CHe: SZEECASHES (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
Al 1,296
O AMHIA S&Z Ul 20|
360,000,000& *0.72% 2,592
Fag 1,296
Al 1,296
W T E2H 22 (BHES/UA) 332,225 478,287 A 146,062
Fag 125,000
& 41,112
Al 166,113
THAN EEZ23 22 332,225 478,287 N 146,062
hag 125,000
== 41,112
Al 166, 113
NHStHAER - 0l 2AId Z4(CE22 282 A 250,000 400,000 A 150,000
Hl)
Fag 125,000
Al 125,000
401 AIEHIZL201H] 250,000 400,000 A 150,000
Fag 125,000
Al 125,000
01 Al&HI| 243,475 391,520 A 148,045
rag 121,737
Al 121,738
= 0ff &F 243,475 391,520 A 148,045
Fag 121,737
Al 121,738
O Eg=24 =82 Hyl AA&AHYI
250,000, 000& *4.03% 10,075
Fag 5,037
Al 5,038
O &tz | 2,652,270& x88km 233,400
Fag 116,700
Al 116,700
02 2cldl 4,725 7,560 N2,835
=) 2,363
Al 2,362
= 0ff A 4,725 7,560 N2,835
= 2,363
Al 2,362
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M AEY
HI: PG CBA AL (BIES/AY)
CHel ZAHA SRS 2l (e &
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
O =3 ez HY| 2ealbl
250,000,000 *1.89% 4,725
Fag 2,363
Al 2,362
03 AIEE£0HH] 1,800 920 880
fag 900
Al 900
= 0l & 1,800 920 880
Fag 900
Al 900
O3 etz FH|
250,000,000& *0.72% 1,800
Fag 900
Al 900
NHESHAEAN - 0|2AE XL (CEZ2R 22 29) 82,225 78,287 3,938
== 41,112
Al 41,113
101 ol A H| 14,503 18,107 N 3,604
== 7,251
Al 7,252
04 JIZtHZ2Z2XNSE S 14,503 18,107 N 3,604
== 7,251
Al 7,252
= 0l & 14,503 18,107 N 3,604
== 7,251
Al 7,252
OTgsa 22| o2 14,503
EAR==1 66,800 x 1Y 212! 8 & 11,223
== 5,611
Al 5,612
-S54 66,800 12 32 2,138
o 1,069
Al 1,069
—=0HZIEEE 11,222,400& x4 5% 506
= 253
Al 253
—30AAEEZ 11,222,400& *3.12% 351
== 175
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M AEY
HI: PG CBA AL (BIES/AY)
CHel ZAHA SRS 2l (e &
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
Al 176
—EE8= 11,222,400 *1.5% 169
== 85
Al 84
— A RYEE = 350, 140& *7.38% 26
== 13
Al 13
—MEEE 11,222,400 «8/1,000 90
== 45
Al 45
201 A E2 A Y| 59,881 51,896 7,985
c 29,940
Al 29,941
01 Ar®2telt] 37,681 31,696 5,985
& 18,840
Al 18,841
= 0l & 37,681 31,696 5,985
== 18,840
Al 18,841
oMY Il =HE RASE 7
2,120 *365 x4 4 A~ x20H 6,191
== 3,095
Al 3,096
OS3U 2K ot & 222 ME
400,000& x4 3] 1,600
== 800
Al 800
Oswae o= Y BANE S
8,000& 2 x503] 800
== 400
Al 400
OS=s&Es 228 2
611,600 x5 A x53] 15,290
= 7,645
Al 7,645
OFEsH g2F& Ms 2
200,000 x4H 800
== 400
Al 400
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M AEY
HI: PG CBA AL (BIES/AY)
CHel ZAHA SRS 2l (e &
M- =8 a9 (3) - HEAY - a2 o @(ijf;ﬁ% HRE2
OEgz&d 22| & Xt
800,000& 1t =12& 9,600
= 4,800
Al 4,800
Os4tZ2 Mgt xheF Xt 850,000 x401 & 3,400
== 1,700
Al 1,700
02 =524t 22,200 20,200 2,000
== 11,100
Al 11,100
= 0l & 22,200 20,200 2,000
== 11,100
Al 11,100
O Es& AIE&=E AFE NIz
500,000 x12& 6,000
== 3,000
Al 3,000
OS2 A&EE2 42|
500, 000& *3CH *23] 3,000
== 1,500
Al 1,500
OZgsd A3 450,000 x12& 5,400
== 2,700
Al 2,700
OLgEZ22 22 e 54|
400,000& 10 =12& 4,800
== 2,400
Al 2,400
O CEgsd 253&4 22 £=I1H|
750,000& =44 2~ 3,000
== 1,500
Al 1,500
202 04| 4,800 5,520 ANT20
== 2,400
Al 2,400
01 2L b 4,800 5,520 ANT20
o= 2,400
Al 2,400
= 0ff &F 4,800 5,520 NT20
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309,055

21,242
76,388
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i

WH

Al

114,877

114,877

82,439

82,439

55,615

17,138

9,686

32,438
32,438

15,862
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8,288

30,403

21,242
9,161
30,403
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Al
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Al

9,161

30,403

21,242
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Al
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21,242
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M AEY
M HE2H D) (IIEH/JIEF)
cro: olete SR
CHEANY - BaS ggi) @(E'ME@O*L%% =2
Hes 22X B 30,403
s
2,300,000& x1H x12& 27,600
Fag 19,280
Al 8,320
=013 27,600,000& *4.5% 1,242
Fag 869
Al 373
ALXEH 27,600,000 *3. 12% 862
Fag 603
Al 259
=EHE 27,600,000& *1.5% 414
Fag 290
Al 124
Ll 27,600,000& *0.8% 221
Fag 155
Al 66
861,120 x7.38% 64
= 45
Al 19
) 36,000 35,000 1,000
== 12,500
Al 23,500
36,000 35,000 1,000
c 12,500
Al 23,500
> 36,000 35,000 1,000
= 12,500
Al 23,500
36,000 35,000 1,000
c 12,500
Al 23,500
‘S 9,000
130,000& x1¥ x12& 1,560
230,000& x1H *x12& 2,760
83,000& x 1Y »7 581
804,000& x1H 23| 1,608
3
11,0702 x 1H x5 A| 2+ x45 2,491
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M AEY
HM: HY2HAAH| (AEAST)(IIEH/DIIE
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Otse and olzel
2,250,000& x1H «12& 27,000
= 12,500
Al 14,500
lad2dy|(Eg =242 22]) 127,775 127,775
== 63,888
Al 63,887
101 ol A H| 127,775 127,775
== 63,888
Al 63,887
03 RIHLZZ2NHE = 127,775 127,775
== 63,888
Al 63,887
= 0l & 127,775 127,775
== 63,888
Al 63,887
OZE=3 22| o8 127,775
—-Jl2s(1g) 66,800& x212 x12& 16,834
== 8,417
Al 8,417
—-Jl2s(1g) 1,502,230@ x 1H 120 & 18,027
== 9,014
Al 9,013
—-Jl2s(1g) 1,175,200@ x 1H 1204 & 14,103
= 7,052
Al 7,051
— HHZAH| 130,000 *x3H x12& 4,680
= 2,340
Al 2,340
— &R 230,000& x3¥ x12& 8,280
== 4,140
Al 4,140
—X&dg 355,630 x3H x12& 12,803
== 6,401
Al 6,402
- s E 200,000& »3H x12& 7,200
== 3,600
Al 3,600
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M AEY
HM: HY2HAAH| (AEAST)(IIEH/DIIE
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
— 5222 82,0003 *3Y 72 x150% 26,568
== 13,284
Al 13,284
—AXLE 82,000 *3H 15 3,690
== 1,845
Al 1,845
— Y E S| 1,359, 160& *3H x23| *60% 4,893
== 2,446
Al 2,447
— &84 20,0008 x2H 53| x12& 2,400
== 1,200
Al 1,200
—=0HZIEEZ 82,000,000& *4.5% 3,690
= 1,845
Al 1,845
—HAEE= 82,000, 000& *3. 12% 2,559
== 1,280
Al 1,279
—EE8s 82,000,000& *1.5% 1,230
== 615
Al 615
— A RYEE S 2,617,940& +7.38% 194
== 97
Al 97
—MTHESE 2 78,000,000& *8/1,000 624
== 312
Al 312
Jl=23tl 83,544 80,750 2,794
ol = 2| 83,544 80,750 2,794
201 Bt A | 37,884 33,350 4,534
01 Atz 18,064 14,730 3,334
= 0l & 18,064 14,730 3,334
OJlg AMREsEEH 140, 000& *203] 2,800
OAMSBA H2D| 24 WA 120,000& *23| 240
QAANEEE2AD| LAdIHEH,EH S B2
Zsh) 250,000& x1CH 123 3,000
OtEHHAHEZ=A SAEX 2L
22,000 x84 Xt x123] 2,112
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SN

= HE2G A (M- ASH)(JIEHIIE
9l Jl= A CERE
x s . 0 & o ol Ao -
M3 29 (3H) - NRAY - ByS =z T BlRE2
OttgdASH 28 S+l
330,000& =123l 3,960
Ot (a2 Xl) 1552 S8z
40,0003 =4 TH = 123] 1,920
OJI2geFd EZ20MA
8,000& x 12 «6L »7& 4,032
02 23293l 19,820 18,620 1,200
= Off & 19,820 18,620 1,200
OXsSxM(HE2oh, stE504)
140,000 *7CH 980
OXNsx sZadg=2(70)
120,000 7 CH 840
OxtgZelt(HESEX 201)
350,000 *2CHx128 8,400
Oxtzzeltl(SEsE2xt 50)
140,000& =501 123 8,400
OZHAIAE AMEZ 100,000& =128 1,200
202 044l 40,800 43,200 A2,400
01 =AYl 40,800 43,200 A 2,400
= Off & 40,800 43,200 A2,400
OJI2gdef+8d 2UHE=H Ol
20,0003 #1799 x10 x128 40,800
203 YR =T 4,860 4,200 660
04 RFA2EHRFEH 4,860 4,200 660
= 0fl &F 4,860 4,200 660
OfFM2ZE 2224 405,000 x12& 4,860
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